



On J. R. Haddock's conjecture

Jianhong Wu

To cite this article: Jianhong Wu (1989) On J. R. Haddock's conjecture, *Applicable Analysis*, 33:1-2, 127-137, DOI: [10.1080/00036818908839866](https://doi.org/10.1080/00036818908839866)

To link to this article: <http://dx.doi.org/10.1080/00036818908839866>



Published online: 02 May 2007.



Submit your article to this journal [↗](#)



Article views: 10



View related articles [↗](#)



Citing articles: 7 View citing articles [↗](#)

On J. R. Haddock's Conjecture

Communicated by R. P. Gilbert

Jianhong Wu

Department of Mathematical Sciences, Memphis State University
Memphis, TN 38152, U.S.A.

AMS(MOS): 34K20, 34K25

Abstract In this paper we prove the following conjecture of J.R. Haddock: each solution of the following neutral equation

$$\frac{d}{dt}[x(t) - cx(t-r)] = -F(x(t)) + F(x(t-r))$$

tends to a constant, if $F : R \rightarrow R$ is continuous and increasing, $0 < c < 1$.

KEY WORDS: Convergence, neutral equations.

(Received for Publication 24 March 1988)

1. INTRODUCTION.

In this paper, we give a proof of the following J. R. Haddock's conjecture ([1]):

Conjecture: If $0 < c < 1$ and $\gamma > 0$ is a quotient of positive odd integers, then each solution of the following equation

$$\frac{d}{dt}[x(t) - cx(t-r)] = -ax^\gamma(t) + ax^\gamma x(t-r); \quad a \geq 0, r \geq 0 \quad (1)$$

tends to a constant as $t \rightarrow \infty$.

In fact, we will prove that the same conclusion holds for the following more general equation

$$\frac{d}{dt}[x(t) - cx(t-r)] = -F(x(t)) + F(x(t-r)), \quad (2)$$

where $F : R \rightarrow R$ is increasing and continuous, that is, we prove the following

Theorem: Each solution of the equation (2) tends to a constant as $t \rightarrow \infty$.

2. Lemmas

In this section, we will establish three important lemmas to be used to prove our main theorem.

Lemma 1. Let $c > 0$ and

$$A_i = \max_{ir \leq t \leq (i+1)r} \max\{(1-c)x(t), x(t) - cx(t-r)\}.$$

Then

$$A_0 \geq A_1 \geq A_2 \geq \dots \geq A_m \geq A_{m+1} \geq \dots$$

Proof: By way of contradiction, if this is not true, then there exists an integer m so that $A_m < A_{m+1}$, that is,

$$\begin{aligned} & \max_{mr \leq t \leq (m+1)r} \max\{(1-c)x(t), x(t) - cx(t-r)\} \\ & \leq \max_{(m+1)r \leq t \leq (m+2)r} \max\{(1-c)x(t), x(t) - cx(t-r)\}. \end{aligned}$$

Let $\alpha_{m+1} \in [(m+1)r, (m+2)r]$ so that

$$\max\{(1-c)x(\alpha_{m+1}), x(\alpha_{m+1}) - cx(\alpha_{m+1}-r)\} = A_{m+1}.$$

Then we have only two cases

$$\text{Case 1: } A_{m+1} = (1-c)x(\alpha_{m+1}) > x(\alpha_{m+1}) - cx(\alpha_{m+1}-r).$$

In this case, we have

$$x(\alpha_{m+1}) \leq x(\alpha_{m+1}-r),$$

and therefore

$$A_{m+1} = (1-c)x(\alpha_{m+1}) \leq (1-c)x(\alpha_{m+1}-r) \leq A_m$$

which is contrary to the assumption $A_m < A_{m+1}$.

$$\text{Case 2: } A_{m+1} = x(\alpha_{m+1}) - cx(\alpha_{m+1}-r) \geq (1-c)c(\alpha_{m+1}).$$

In this case, we have

$$\begin{aligned} & x(\alpha_{m+1}) - cx(\alpha_{m+1}-r) \\ & = \max_{mr \leq t \leq (m+2)r} [x(t) - cx(t-r)], \end{aligned}$$

and thus if $\alpha_{m+1} < (m+2)r$, then at $t = \alpha_{m+1}$ we have

$$\frac{d}{dt}[x(t) - cx(t-r)] = 0.$$

This means

$$-F(x(\alpha_{m+1})) + F(x(\alpha_{m+1} - r)) = 0,$$

and so

$$x(\alpha_{m+1}) = x(\alpha_{m+1} - r).$$

This implies

$$\begin{aligned} A_{m+1} &= x(\alpha_{m+1}) - cx(\alpha_{m+1} - r) \\ &= (1-c)x(\alpha_{m+1} - r) \\ &\leq A_m \end{aligned}$$

which is contrary to the assumption $A_{m+1} \leq A_m$. So $\alpha_{m+1} = (m+2)r$ and

$$\frac{d}{dt}[x((m+2)r) - cx((m+1)r)] > 0.$$

If there exists $\tau \in [(m+2)r, (m+3)r)$ such that

$$\frac{d}{dt}[x(t) - cx(t-r)] > 0 \quad \text{for } t \in [(m+2)r, \tau)$$

and at $t = \tau$, we have

$$\frac{d}{dt}[x(t) - cx(t-r)] = 0,$$

then

$$-F(x(\tau)) + F(x(\tau - r)) = 0,$$

and thus

$$x(\tau) = x(\tau - r)$$

This implies

$$x(\tau) - cx(\tau - r) = (1-c)x(\tau - r) \leq A_{m+1}. \quad (3)$$

On the other hand

$$\frac{d}{dt}[x(t) - cx(t-r)] > 0 \quad \text{for } t \in [(m+2)r, r)$$

implies

$$\begin{aligned} A_{m+1} &= x((m+2)r) - cx((m+1)r) \\ &< x(r) - cx(r-r) \end{aligned}$$

which is contrary to (3). Therefore on the interval $t \in [(m+2)r, (m+3)r)$ we have

$$\frac{d}{dt}[x(t) - cx(t-r)] > 0,$$

and thus

$$\begin{aligned} &x(t) - cx(t-r) \\ &> x((m+2)r) - cx((m+1)r) \\ &= A_{m+1} \quad \text{for } t \in ((m+2)r, (m+3)r] \end{aligned}$$

This implies

$$A_{m+2} > A_{m+1}.$$

Using the same argument as above we can prove that

$$A_m < A_{m+1} < A_{m+2} \dots$$

and

$$\frac{d}{dt}[x(t) - cx(t-r)] > 0$$

for $t \in [(m+2)r, \infty)$. Then at $t = (m+3)r$ we have

$$\frac{d}{dt}[x(t) - cx(t-r)] > 0.$$

This means

$$-F(x(m+3)r) + F(x((m+2)r)) > 0,$$

and thus

$$x((m+3)r) < x((m+2)r).$$

This implies

$$\begin{aligned} & x((m+3)r) - cx((m+2)r) \\ & < (1-c)x((m+2)r) \\ & \leq x((m+2)r) - cx((m+1)r). \end{aligned}$$

This is contrary to

$$\frac{d}{dt}[x(t) - cx(t-r)] > 0 \quad \text{on } [(m+2)r, (m+3)r].$$

So, there exists no integer m so that $A_m < A_{m+1}$, and thus

$$A_0 \geq A_1 \geq A_2 \geq \dots \geq A_m \geq A_{m+1} \geq \dots$$

This completes the proof.

Similarly, we can prove

Lemma 2. Let $c > 0$ and

$$B_i = \min_{i-r \leq t \leq (i+1)r} \min\{(1-c)x(t), x(t) - cx(t-r)\}.$$

Then

$$B_0 \leq B_1 \leq B_2 \leq \dots \leq B_m \leq B_{m+1} \leq \dots$$

By Lemma 1 and Lemma 2, we can assert that all solutions of (2) are bounded.

Lemma 3. Let $x : (-r, \infty) \rightarrow R$ is a bounded continuous function with

$$\lim_{t \rightarrow \infty} [x(t) - cx(t-r)] = d$$

exists, then $\lim_{t \rightarrow \infty} x(t)$ exists and

$$\lim_{t \rightarrow \infty} x(t) = \frac{d}{1-c}.$$

Proof: Let $|x(t)| \leq M$ for all $t \geq -r$ and for a constant $M > 0$. For any $\epsilon > 0$, there exists an integer $N = N(\epsilon) > 0$ so that for $n \geq N$ we have

$$\frac{|c|^n |d|}{1-c} + |c|^n M < \frac{\epsilon}{2}.$$

Let $y(t) = x(t) - cx(t-r)$ and $\lim_{t \rightarrow \infty} y(t) = d$. By the assumption there exists $T_1(\epsilon) > 0$ so that

$$|y(t) - d| < \frac{(1-|c|)\epsilon}{2} \quad \text{for } t \geq T_1(\epsilon).$$

Therefore for any $t \geq T_1(\epsilon) + [N+1]r$, we have

$$\begin{aligned} & \left| x(t) - \frac{d}{1-c} \right| \\ &= \left| y(t) + cx(t-r) - \frac{d}{1-c} \right| \\ &= \left| y(t) + cy(t-r) + c^2x(t-2r) - \frac{d}{1-c} \right| \\ &= \dots \\ &= \left| y(t) + cy(t-r) + \dots + c^N y(t-Nr) + C^{N+1}x(t-(N+1)r) - \frac{d}{1-c} \right| \\ &= \left| y(t) - d + c[y(t-r) - d] + \dots + c^N [y(t-Nr) - d] \right. \\ &\quad \left. + c^{N+1} \frac{d}{1-c} + c^{N+1}x(t-(N+1)r) \right| \\ &\leq |y(t) - d| + |c||y(t-r) - d| + \dots + |c|^N |y(t-Nr) - d| + \frac{|c|^{N+1}|d|}{1-c} + |c|^{N+1}M \\ &\leq \frac{1-|c|}{2}\epsilon + |c|\frac{1-|c|}{2}\epsilon + \dots + |c|^N \frac{1-|c|}{2}\epsilon + \frac{\epsilon}{2} \\ &\leq \frac{1-|c|}{2}\epsilon + |c|\frac{1-|c|}{2}\epsilon + \dots + |c|^N \frac{1-|c|}{2}\epsilon + \frac{\epsilon}{2} \\ &\leq \epsilon \end{aligned}$$

This completes the proof.

The following two lemmas are taken from [2, Proposition 4, Proposition 5].

Lemma 4: Consider now the ordinary differential equation

$$\dot{u}(t) = -F\left(\frac{u(t)}{1-c}\right) + F\left(\frac{A+\epsilon}{1-c}\right), \quad (4)$$

where A is a constant and ϵ is a parameter with $0 \leq \epsilon \leq 1$, and the initial condition

$$u(t_0) = u_0 < A. \quad (5)$$

Let $u(t) = u(t; t_0, \epsilon)$ be the solution of the initial value problem (4)-(5), and $\alpha > 0$ be a given constant. Then there exists a positive constant μ independent of t_0 and ϵ such that

$$(A + \epsilon) - u(t; t_0, \epsilon) \geq \mu > 0 \quad \text{for } t \in [t_0, t_0 + \alpha].$$

Lemma 5. Consider the ordinary differential equation

$$\dot{u}(t) = -F\left(\frac{u(t)}{1-c}\right) + F\left(\frac{A-\epsilon}{1-c}\right), \quad (6)$$

where A is a constant and ϵ is a parameter with $0 \leq \epsilon \leq 1$, and the initial condition

$$u(t_0) = u_0 > A. \quad (7)$$

Let $u(t) = u(t; t_0, \epsilon)$ be the solution of the initial value problem (6)-(7), and $\alpha > 0$ be a given constant. Then there exists a positive constant ν independent of t_0 and ϵ such that

$$u(t; t_0, \epsilon) - (A - \epsilon) \geq \nu > 0 \quad \text{for } t \in [t_0, t_0 + \alpha].$$

3. Proof of the Main Results

Now we are in the position to prove our main theorem.

Proof of Theorem: By Lemma 1, we know

$$A = \lim_{t \rightarrow \infty} \sup \max\{(1-c)x(t), x(t) - cx(t-r)\} = \lim_{n \rightarrow \infty} A_n < +\infty.$$

By Lemma 2, we know that

$$B = \lim_{t \rightarrow \infty} \inf \min\{(1-c)x(t), x(t) - cx(t-r)\} = \lim_{n \rightarrow \infty} B_n > -\infty.$$

Therefore

$$-\infty < B \leq A < +\infty.$$

Let

$$E = \lim_{t \rightarrow \infty} \inf \max\{(1-c)x(t), x(t) - cx(t-r)\}.$$

If $E < A$, then we can find a constant $H \in (E, A)$ and an increasing real number sequence $\{\tau_m\}$ so that $\tau_m \in [mr, (m+1)r] := I_m$ and

$$\max\{(1-c)x(\tau_m), x(\tau_m) - cx(\tau_m - r)\} = H.$$

.....

It is clear that

$$[\tau_m, \tau_m + 2r] \subseteq I_m \cup I_{m+1} \cup I_{m+2}$$

and so if $t \in [\tau_m, \tau_m + 2r]$, then

$$\begin{aligned} & (1-c)x(t-r) \\ & \leq \max_{\tau_m-r \leq t \leq \tau_m+2r} \max\{(1-c)x(t), x(t) - cx(t-r)\} \\ & \leq \max_{(m-1)r \leq t \leq (m+3)r} \max\{(1-c)x(t), x(t) - cx(t-r)\} \\ & \leq A_{m-1} =: A + \epsilon_m. \end{aligned}$$

This implies

$$x(t-r) \leq \frac{A_{m-1}}{1-c} = \frac{A + \epsilon_m}{1-c}.$$

Now on the interval $[\tau_m, \tau_m + 2r]$, define

$$y(t) = x(t) - cx(t-r).$$

If $x(t) < x(t-r)$, then

$$(1-c)x(t) > x(t) - cx(t-r) = y(t)$$

and thus

$$x(t) > \frac{y(t)}{1-c}$$

This implies

$$\begin{aligned} \dot{y}(t) &= -F(x(t)) + F(x(t-r)) \\ &\leq -F\left(\frac{y(t)}{1-c}\right) + F\left(\frac{A + \epsilon_m}{1-c}\right) \end{aligned}$$

If $x(t) \geq x(t-r)$, then

$$\begin{aligned} \dot{y}(t) &= -F(x(t)) + F(x(t-r)) \\ &\leq 0 \\ &\leq -F\left(\frac{y(t)}{1-c}\right) + F\left(\frac{A + \epsilon_m}{1-c}\right) \end{aligned}$$

and so on the interval $[\tau_m, \tau_m + 2r]$, we always have

$$\dot{y}(t) = -F\left(\frac{y(t)}{1-c}\right) + F\left(\frac{A + \epsilon_m}{1-c}\right)$$

and

$$y(\tau_m) \leq H < A$$

By Lemma 4, there exists a constant $\mu > 0$ so that

$$(A + \epsilon_m) - u(t; \tau_m, H) \geq \mu > 0,$$

where $u(t; \tau_m, H)$ is the solution of the following initial value problem

$$\begin{aligned} \dot{u}(t) &= F\left(\frac{u(t)}{1-c}\right) + F\left(\frac{A + \epsilon_m}{1-c}\right) \\ u(\tau_m) &= H \end{aligned}$$

Using the usual comparison principle, we obtain

$$u(t; \tau_m, H) \geq y(t) \quad \text{on } [\tau_m, \tau_m + 2r],$$

and thus

$$A + \epsilon_m - y(t) \geq \mu > 0 \quad \text{for } t \in [\tau_m, \tau_m + 2r]. \quad (8)$$

On the other hand, on the interval $[\tau_m, \tau_m + 2r] \subseteq I_m \cup I_{m+1} \cup I_{m+2}$, we have

$$\max\{(1-c)x(t), y(t)\} \geq A_{m+2},$$

and thus either

- (A) there exists $\tau \in [\tau_m, \tau_m + 2r]$ so that $y(\tau) \geq A_{m+2}$, or
- (B) $(1-c)x(t) \geq A_{m+2}$ for all $t \in [\tau_m, \tau_m + 2r]$.

In case (A), from (8) we get

$$A_{m-1} - A_{m+2} \geq \mu > 0. \quad (9)$$

In case (B), we have

$$x(t) \geq \frac{A_{m+2}}{1-c},$$

and so using the following equality

$$x(t-r) \leq \frac{A_{m-1}}{1-c},$$

we obtain

$$y(t) = x(t) - cx(t-r) \geq \frac{A_{m+2}}{1-c} - c \frac{A_{m-1}}{1-c}.$$

Substituting the above inequality into (8), we get

$$A_{m-1} - \left[\frac{A_{m+2}}{1-c} - c \frac{A_{m-1}}{1-c} \right] \geq \mu > 0,$$

that is

$$\frac{A_{m-1}}{1-c} - \frac{A_{m+2}}{1-c} \geq \mu > 0 \quad (10)$$

Combining (9) and (10), we get

$$A_{m-1} - A_{m+2} \geq (1-c)\mu > 0.$$

The inequality above holds for all $m \geq 2$. This is contrary to $\lim_{m \rightarrow \infty} A_m = A$.

So $E = A$. That is

$$\lim_{t \rightarrow \infty} \max\{(1-c)x(t), x(t) - cx(t-r)\} = A$$

exists. Similarly,

$$\lim_{t \rightarrow \infty} \min\{(1-c)x(t), x(t) - cx(t-r)\} = B$$

exists. Therefore

$$\lim_{t \rightarrow \infty} \{(1-c)x(t) + x(t) - cx(t-r)\} = A + B$$

exists. That is

$$\lim_{t \rightarrow \infty} \left[x(t) - \frac{cx(t-r)}{2-c} \right] = \frac{A+B}{2-c}$$

exists. Obviously $|\frac{c}{2-c}| < 1$ and so $\lim_{t \rightarrow \infty} x(t)$ exists by Lemma 3. This completes the proof.

ACKNOWLEDGEMENT. This paper was written while the author visited Memphis State University. I thank Professor J. R. Haddock for bringing the conjecture to my attention. I am also grateful to Dr. Nkashama whose constructive criticism and suggestions led to the present improved version of this paper.

REFERENCES.

1. J. R. Haddock, Functional differential equations for which each constant function is a solution: a narrative, *Proc. of the 11th International Conference on Nonlinear Oscillation, Janos Bolyai Math. Soc., Budapest (1987)*, 86-93.
2. Ding Tongren, Asymptotic behavior of solutions of some reatrded differential equations, *Scientia Sinica (A)*, 25:4 (1982), 363-370.